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B. GUIDED WRITING:

Study the information in the table about compulsory education and complete the
sentences below it. Use the Quantifiers to make comparisons such as, the most, the least,
more than, less than

Turkey 6—-18 years

Portugal 6—18 years

Jordan 6—-15 years

Japan 6—15 years
Answer

1. Turkey and Portugal have the most compulsory education..s bt aad ISY Lead JUas ull 5 LS 55 -1
2- Jordan and Japan have the least compulsory schooling. .cs sbat aslad ¥ Lead Ll 5 (0 ,¥) 2

Or

1- Turkey has more compulsory education than Jordan.. 2% (e SISV (5 jlad ailai Lgé LS 523

2- Japan has less compulsory education than Portugal..Jus ) (e J8 s jla ailad Leé Gl -4

12- Rewrite the advice, using the words in brackets. The first one is done for you.
(A ) Jaad) (s Al & Jan ) el Aaa sl s o ol 581 8 ol aladiindly cmibiail) 440K 2o -
1 - You should practise the presentation several times. (were). < e <o shaall (aslad o)) elile Gy -
i N

Answers:-

1- If T were you, I’d practise the presentation several times..< » e <l slaall A jleas caadl (il € (L.
2 -If I were you, I wouldn’t look too casual. ey e bl cun Lol @lile g

3 —if I were you, I would do a lot of research. <las¥ (e uaally caadl (il i€ 4l

4- Why don’t you get some work experience? $0aall 85 pall (any e Jiasni ¥ 3

5 -Choose the correct option, a, b, c ord. 5

1- If Huda ill yesterday, she wouldn’t have missed the exam. (not, be)

2-1 couldn’t climb Mount Everest even if someone .................. my equipment for me! (carry)
3-Ifmy father .................. to university, he could have been a teacher. (go)

4-Jameel .................. a musician if his parents hadn’t encouraged him. (become)

Answers: 1 hadn't been 2 carried 3- had gone 4- might not have become Dy J“
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